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N & O & AF &2 F Al A
20219 20 & e MSYd= ~ HSHE=
A= FHsSd= AR DA =< a3
g NSFH 835t
Sl XSPH 45 JleYst EERED
- _ — d =
A .24 - B BAGEA) - NPAY - BES 0] &k o4 e HlDE2
FHSa= 150,308,636 100,445,959 49,862,677
= 35,719,669
s 32,361,000
J| 7,435,845
< 74,792,122
EERSPAReni; 69,374,269 39,750,080 29,624,189
= 28,988,767
J| 7,435,845
< 32,949,657
ANSAZH &3 52,494,377 19,670,219 32,824,158
= 28,988,767
J| 7,435,845
< 16,069,765
NABHM 2435 Jlgrda 1,544,728 2,340,688 A795,960
EXZH Q25 27,000 82,000 255,000
308 XXM SOl A 27,000 82,000 A 55,000
3/ 2S0HetE & X2 E A I 27,000 82,000 A 55,000
Os=dHe 8its el 27,000
E=SZHEYE 29 117,000 117,000 0
307 21201 A 117,000 117,000 0
02 QAFAAFEX 117,000 117,000 0
Os= ZHM=Ed 24X& 117,000
o FHus 29 33,400 31,500 1,900
308 A EHHSOIA 33,400 31,500 1,900
1132 S0HUHeSBHEAEALS I 33,400 31,500 1,900
OZ2 ZMus 2IXE 33,400
NEZHseS=HE2Y 46,428 46,428 0
308 AXIEHHSOIA 46,428 46,428 0
113/ 2SHUHSZAEEALS I 46,428 46,428 0
OXEZHsSeE=4E 2SN 46,428
ANAZHELdSPRFA 84,900 96,760 A 11,860
201 -4 33,400 33,400 0
01 At 22l 33,400 33,400 0
Ot & ==ZH| 32,000
O= &l 1,400
-NeZHegds=a 1,400
202 (4 Hl 3,500 3,500 0
01 = LH 4 Hi 3,500 3,500 0
OZMEH=Z 3,500
203 YR =&l 48,000 56,000 A 8,000




A= JHSH= AR DA =< a3
Ha: TN 22
&S XNSFH &dst Jlgr2 st (&)
= - — SHE]|
MR 2N FB-BA(E) - MRAY - BAS 0l &k 24 e bl D=2t
03 A F=XH R =ZH| 48,000 56,000 A 8,000
OXNEZHELds dRFN 48,000
LEZH =248 =90 =4 13,000 15,000 A 2,000
201 LBt 13,000 15,000 A2,000
01 At 22l 13,000 15,000 A 2,000
OLsdH 2= M& 13,000
=2 AHARER =4 823,000 1,952,000 A 1,129,000
308 XX EHH SOl A 323,000 702,000 A379,000
13 2SOIHEHE & X 2 AL I 323,000 702,000 379,000
OADEEMAH RHMARER FI(WHS) 323,000
403 UHXSHHSA=0l& 500,000 1,250,000 A750,000
02 SO 2SOlCHsH 2 X 2 A I 500,000 1,250,000 A750,000
OADIEAEMA RHMAFER ZI(HS) 500,000
MUl Adbe MENH DBt A 200,000 0 200,000
308 XXM SOIA 200,000 0 200,000
N 3JN2SUHUe3AHAE AR 200,000 0 200,000
OREE 282 J1g 0tAHE XNE M 200,000
ZH EMAF YOO0IH SHE *= 200,000 0 200,000
308 XX EHH SOl 200,000 0 200,000
113/ 2SoHUHSZAEEALS I 200,000 0 200,000
Of=2 &9 - ZH I UHOIE BSHE
= 200,000
HEANE 2483 @ L4300 N2 50,776,102 17,154,865 33,621,237
= 28,960,000
J| 7,435,845
< 14,380,257
HSAE OHAE XA 60,000 60,000 0
307 glz2+ol & 60,000 60,000 0
02 HAFHAANGEEE 60,000 60,000 0
OFSAE &2 OHAEns XA 20,000
OXY JHOISTVE 28 dsSAME B 40,000
SEAE #X0H2 12,000 12,000 0
307 glz2tol & 12,000 12,000 0
02 It M AMHEE 12,000 12,000 0
O=Uel d&8AZE vIX0r2 X 12,000
HEANE E43 =& 576,000 685,500 A 109,500
403 Mt S E X201 E 576,000 685,500 A 109,500
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01 HXSHMA2E X 576,000 685,500 A 109,500
OSH3AE s4(U3) 576,000
d= dSAE Hgs Fot N2 16,200 18,000 A 1,800
307 glz2tol & 16,200 18,000 A 1,800
02 HAHFHAANGFEX 16,200 18,000 A 1,800
Of= dsSAE &&s ot N2 16,200
5 =AY HE3 KA 100,000 100,000 0
307 21201 A 100,000 100,000 0
02 LAFLAFEX 100,000 100,000 0
OS5 2AMFE 2&s Nzl NA(US) 100,000
HEANE NESHUHSAIS (HEAY) 2,853,000 3,036,054 A 183,054
403 Mt SHHSA=0l& 2,853,000 3,036,054 A 183,054
01 HXSHMA=E X 2,853,000 3,036,054 A 183,054
OXSAE ALSUME X 2,853,000
S+ HSANE E&F XA 60,000 60,000 0
307 g1zl & 60,000 60,000 0
02 LIt MAHEE 60,000 60,000 0
O+ HSANE dF XA 60,000
HSAE SFMHSH Y X 137,146 137,146 0
308 XtXIEHH SOl A 137,146 137,146 0
01 AXHHILEES 137,146 137,146 0
OESAZE stHSH It X& 137,146
HdSAE & AEI HHI&sE<R0 28 XA 111,744 111,744 0
308 XtXIEHHSOIA 111,744 111,744 0
01 HXNHHNBHELS 111,744 111,744 0
OFSAZE & &4&EI HH&E<0 22 X 111,744
EROINBE MOXE SHAY X2 4,800 4,656 144
307 glz2tol & 4,800 4,656 144
03 BIAHMNHE2IHIEL 4,800 4,656 144
OEIXoIAER MR SHN(HS) 4,800
2Tl EZE SSAYIA 20,000 20,000 0
307 glz2tol & 20,000 20,000 0
02 IZtE M AMHEE 20,000 20,000 0
Oo25casd JI& - ¢d 20 N& 20,000
L3I 9,000 10,000 A 1,000
307 21201 A 9,000 10,000 A 1,000
02 QAHFAAHEX 9,000 10,000 A 1,000
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L2H4ITOUEHTS OINHEA 5,270,000 4,820,000 450,000
308 XXIEHSO0IA 5,270,000 4,820,000 450,000
N 3JN2SUHUe3AHAE A 5,270,000 4,820,000 450,000
Oa2aZesdlas 0INEH 5,270,000
SAE FXEFME MG (AHEY) 8,277,847 5,834,500 2,443,347
| 7,137,440
< 1,140,407
403 Mt S E X201 & 8,277,847 5,834,500 2,443,347
| 7,137,440
< 1,140,407
01 X SHHX2E= 8,277,847 5,834,500 2,443,347
OFSANE =S IMLEAY 8,277,847
| 7,137,440
< 1,140,407
NAAMNSAEH 23 X2 (8% XE) 27,180,000 963,000 26,217,000
= 24,160,000
S 3,020,000
308 XIS SO0 27,180,000 963,000 26,217,000
= 24,160,000
< 3,020,000
01 AXNSHHBLAEES 27,180,000 963,000 26,217,000
OXGAMAZTAH L& X2 (8% XIH) 27,180,000
= 24,160,000
= 3,020,000
NAAZAEA 28 XA (6% X&) 5,600,000 0 5,600,000
= 4,800,000
< 800,000
308 XXM SOIA 5,600,000 0 5,600,000
= 4,800,000
< 800,000
01 IXNHHBANEES 5,600,000 0 5,600,000
OXGAMAZTA L3 X2 (6% XH) 5,600,000
= 4,800,000
< 800,000
s 2430 Y=z A& 90,360 90, 360 0
308 XX EHHSOIA 90,360 90, 360 0
01 HXNHHBHEELS 90,360 90, 360 0
O 42430 s¥EHS XA 90,360
SHdH ZHAMS 204,600 523,177 A 318,577
| 165,000
= 39,600
403 XSS A=0l& 204,600 523,177 A 318,577
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OL=d4d FdlAY 204,600
J| 165,000
< 39,600
HSAE 2435 A% SsiMgy 22 X 60,000 60,000 0
308 XtXIEHHSOIA 60,000 60,000 0
01 AXHHILEES 60,000 60,000 0
OFSANE 2432 A% SstAY €=2X& 60,000
dSAE MA=23 XAAE 133,405 128,626 4,779
J| 133,405
308 AHAIEHHSOIA 133,405 128,626 4,779
J| 133,405
01 HIXNHHBHELS 133,405 128,626 4,779
OHSANE MI=ERQE XJAAME 133,405
J| 133,405
Stotd & AHINES 173,547 174,666 A1,119
= 28,767
< 144,780
ANYSoH e+E2el 43,000 45,000 A2,000
201 ¢4l 18,000 20,000 A 2,000
01 At 2t 2l 18,000 20,000 A2,000
oxshtzaga g2 XA 18,000
307 21201 A 25,000 25,000 0
04 QIZFHALAIH B = 25,000 25,000 0
OYEER HAMAHME HAIHAA 25,000
NFBEZAN BLIEH B 59,799 59,956 A 157
301 LeBAF 59,799 59,956 A 157
09 SALAHIX RS 1,200 1,200 0
OJNAXZAEBUEH & ns4H 24 1,200
12 JIEE4 =3 58,599 58,756 A 157
ONBXZALZULH 24 58,599
OlsAHMEdH 29 5,581 5,498 83
301 LEEBA S 5,581 5,498 83
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308 XX EHH SOl 30,000 30,000 0
11 BSOS L A= IS A 30,000 30,000 0
OZBZLANZIE 2 U3t N2 30,000
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02 AtFAAFE X 20,000 20,000 0
OJ1gel e 43 XA 20,000
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JSMHZRNAHEH 29 85,150 85,150 0
308 XtXIEHHSOIA 85,150 85,150 0




<

n0

Kio

Hl w

A567,250

345,000

A5,000

A5,000
A5,000

455,000
455,000

455,000

10,000
10,000
10,000

N912,250

A 100,000

H3r
Wikd
RIS

85,150

30,000
30,000
30,000

4,808,250

1,760,000

35,000

35,000
35,000

45,000
45,000
45,000

140,000

140,000
140,000

1,425,000
1,425,000

1,425,000

3,048,250

221,000
221,000
221,000

1,600,000

Off &t 24

85,150
85,150

30,000
30,000
30,000
30,000

4,241,000

2,105,000

30,000

30,000
30,000
30,000

45,000
45,000
45,000
45,000

140,000
140,000
140,000
140,000

1,880,000
1,880,000

1,880,000

1,880,000

10,000
10,000
10,000
10,000

2,136,000

221,000
221,000
221,000
221,000

1,500,000

=D [ =i

= A

o
=

Jlgz X

o
T

C|
=

Rr

2|

=

=Y

OJIZHZ X

30
0B

-

[l
<

ol
<

ord

=

=)

308 A+XIEHH

Ko

&

Ot
]

R
|
<

Ko

&l
30
0H

=
K
3l
i

Ko

ord

=

=

308 A+XIEHH

Al
B0
0H

=
>3
Eall
o

0

(=}
[und

2|

T2 X2

2|

=

L2 X2
ord

=
S

dl
- Bl Ol

F

B O
|
osa

308 Xt

g

2 2Eal i

- B DI

P

R0

| O =

3

[z =1 =13
=5 Mo

- B O

ors

e

=

=)

!

1]

308 At A

i
a0
®0
L
o
=
i
K0

-

<

<l

ord

=

=)

308 A+XI A

Rr

010

(CH

KJ
Kir
oD
K0
oK
o)
=
K
K0

or

x

0F
E|

.

<J

<

Ol &

=

S

308 X+XIEHH

0

[l

n0

ar

ol
K0
<J

)
X0
il

30
0

-

w
I
OF
H
a0
K0

307 21201 A

Ki
iy
&l

<0
R0
~J

oJ

oH

30
O

_

D
Edl
<
o
=
R0
Kd
K0
o

Ko

o

A 100,000
A 100,000

1,600,000
1,600,000

1,500,000
1,500,000

Ol &

=

=)

308 A+XIEHH




M ox
40 5 4

AR SA Y- SAEA) - HRAY - BES 0l &t o il Bl RE2
OSSZxZHEAMH 2 XA (THE) 1,500,000
S HAEYE WA 100,000 100,000 0
308 XXIEHHSOIA 100,000 100,000 0
N 3JN2SUHUe3AHAE A 100,000 100,000 0
OSMEY HAEE i 100,000
FHTAIIIR XRAS 105,000 150,000 A 45,000
308 XtXIEHH SOl A 105,000 150,000 A 45,000
1 3I2SOIHEHE & X 2 A I 105,000 150,000 A 45,000
OXLTAMIIX XEAS(HS) 105,000
HIOIHAAHOIA 5 - 2E NEAMY 50,000 50,000 0
308 MtXIEHMSOIH 50,000 50,000 0
1132 SoHUHSBHEAEALS I 50,000 50,000 0
OMOIAAHOIA 25 - 2Y IAAME(WHS) 50,000
=2 ZYAHES 22 XA 60,000 60,000 0
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Jl2Z3l 109,547 110,579 21,032
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201 -4 42,497 23,949 18,548
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E=N DIRe RN 29,738,857 19,245,637 10,493,220
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201 et 52,018 34,798 17,220
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OJIg MEX3 MHIA Ol =2 7,128
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203 € R F & 25,000 28,000 A 3,000
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AR FHSH= SN SNSRI
HE: J|ARK HE
&2 LHO1 Y R X (e &)
2SN B () NEAY - BAS 0 AF o il HZS2
OAlI& &Hl K X Hl| 18,196
- ESEXNSXS AIRA 22| H| 18,196
202 (4] 13,200 13,200 0
01 2L Y] 13,200 13,200 0
OEXw X=X 13,200
-l &0 13,200
203 PR =&lY| 10,000 10,000 0
03 A=A SR =AH| 10,000 10,000 0
OFXNgIY 249 10,000
406 J|EFXH201 A 90,000 60,000 30,000
01 JIEFAH20| & 90,000 60,000 30,000
OFNYA=A AXNEE2 Aue 90,000
ol EXtR X 275,400 304,000 A 28,600
=20 EXNRA E= 236,400 265,000 A 28,600
201 et A | 67,100 81,500 A 14,400
01 AFR2t2l Yl 21,400 16,000 5,400
OA=EXNAYE & - HAY| 14,400
OblthH HAEX=X st &z 25 7,000
-LES 2 GEA UK 7,000
02 35294l 5,700 4,500 1,200
Ol EXRiaEgs st 3,000
O(Ah)8t=22=2D|Hd 83 A3l 1,500
OHItHHWMNAEXN S X RS SH&FAE RS 1,200
- Qe AISHIS 1,200
03 A2 H H| 40,000 61,000 A 21,000
Ol EXSX AN E 30,000
OXSEBNSI MAG &I AXNSFXAEHSG Y
eS| 10,000
202 (4] 50,000 60,000 A 10,000
03 =220l 50,000 60,000 A 10,000
Ol EXsXNEs =20d X 50,000
301 et X = 28,300 23,500 4,800
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& - s3HX X , 176,800 8,295,000 4,881,800
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SECX ZH( , 161,000 1,440,000 A 279,000
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04 Al - SXEIHLI S0 =30l K& 706,000 572,500 133,500
SF A=UENNYE LdUHEXN Y= 506,000
OLUHESAHHI =4 Y3 200,000
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SEXNEEAINY XEFE A8 & FHYAA 100,000 0 100,000
307 gl2tol & 100,000 0 100,000
02 It M AHE L 100,000 0 100,000
OFXgAINg dEd odgdedd & HPNHA 100,000
DEOE HHMKHE WX ALY 8,615,000 6,500,000 2,115,000
s 7,315,000
=) 1,300,000
308 XXM SO0 A 8,615,000 0 8,615,000
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=) 1,300,000
N 3JN2SHUe3&HAE A 8,615,000 0 8,615,000
OnEotd HHMUE WIIK AL 8,615,000
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= 80,894
< 79,094
MAE ATl AL 3,213,468 3,030,746 182,722
MAH dEZAL 29 X 2,359,108 2,100,716 258,392
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02 It MAMHEE 351,801 390,890 A 39,089
QuasE A=A XN (MHFEAMUESZ) 351,801
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EoIsZIIUa Hx ¥ d30e &M 495,106 495,106 0
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